

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form **990-PF**

Return of Private Foundation or Section 4947(a)(1) Nonexempt Charitable Trust
Treated as a Private Foundation
Note The foundation may be able to use a copy of this return to satisfy state reporting requirements.

OMB No 1545-0052

Department of the Treasury Internal Revenue Service

For cale	endar year 2011 or tax year beginning		, and ending	<u> </u>	
Name	of foundation			A Employer identificatio	n number
	E JOSHUA (JIM) AND EUNIC	E STONE			_
	UNDATION			27-0439220	<u> </u>
	r and street (or P O box number if mail is not delivered to street	address)	Room/suite	8 Telephone number	
	235 OVID			313-965-82	
-	town, state, and ZIP code			C If exemption application is	pending, check here
	ANKLIN, MI 48025	Instal satura of a fa		0.4 Faraian anaanisahan	a abask bara
G Che	ck all that apply: Initial return Final return	Initial return of a fo	THIEF PUDIIC CHAFILY	D 1. Foreign organization	is, check here
	Address change	Name change		Foreign organizations m 2 check here and attach of	eeting the 85% test,
H Che	ck type of organization: X Section 501(c)(3) ex		 	1	
_	Section 4947(a)(1) nonexempt charitable trust	Other taxable private founda	tion	If private foundation st under section 507(b)(1	
	narket value of all assets at end of year J Account		Accrual	F If the foundation is in a	
(from	n Part II, col (c), line 16)	ther (specify)		under section 507(b)(1	
_\$	4,583,810. (Part I, colu	ımn (d) must be on cash b	pasis)		
Part	Analysis of Revenue and Expenses (The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a).)	(a) Revenue and expenses per books	(b) Net investment income	(c) Adjusted net income	(d) Disbursements for charitable purposes (cash basis only)
1	Contributions, gifts, grants, etc., received	3,754,538.		N/A	
2	Interset on equipme and temporary				
		70,294.	70,294.		STATEMENT 1
5	ia Gross rents				
	b Net rental income or (loss)				
<u>o</u> 6	a Net gain or (loss) from sale of assets not on line 10	-258,522.	· · · · · · · · · · · · · · · · · · ·		<u> </u>
Revenue	b Gross sales price for all 4,670,464.				
<u>8</u> 8			0.		
1,0	Gross sales less returns	<u> </u>			-
'`					<u> </u>
	CHEST OF THE COLOR				
11		3,693.	3,693.		STATEMENT 2
12	2 Total. Add Tines Tity ough 1	3,570,003.	73,987.		
13	Compensation of officers, directors, trustees, etc	60,000.	40,000.		20,000.
14	· · · · · · · / · · / · · · · · · · · · · · · · · · · · · ·				
S 15		4 072	2 126		0 127
	Sa Legal fees STMT 3	4,273.	2,136.		2,137.
×	b Accounting fees STMT 4 c Other professional fees STMT 5	22,030. 9,776.	11,015. 9,776.		11,015.
₩ 9 17		3,110.	2,110.		† ·
15 Ig	_	1,217.	1,217.		0.
Operating and Administrative Expens					
<u>.</u> 20					
₹ 2·					
E 22	<u> </u>				<u> </u>
<u>E</u> 23		5,509.	0.		680.
E 24	•	100 005	64 144		22 020
ŏ o	expenses. Add lines 13 through 23	102,805.	64,144.		33,832.
28		60,000.			60,000.
26	Add lines 24 and 25	162,805.	64,144.		93,832.
27	7 Subtract line 26 from line 12:		<u> </u>		75,054
-	Excess of revenue over expenses and disbursements	3,407,198.			<u> </u>
	b Net investment income (if negative, enter -0-)		9,843.		
	C Adjusted net income (if negative, enter -0-)			N/A	
123501					Earm 000-DE (2011)

SCANNED NOV 2 @ 2012

<u>Fo</u>	rm 99	0-PF (2011) FOUNDATION				27	<u> </u>	439220	Page 2
F	art	Balance Sheets Attached schedules and amounts in the column should be for end-of-year amou	description		Beginning of year		d of y		
<u> </u>		column should be for end-or-year amou	ints only		(a) Book Value	(b) Book Value		(c) Fair Market	
	1	Cash - non-interest-bearing			-3,043.	882,519	<u> </u>	882,	<u>,519.</u>
	1	Savings and temporary cash investments					\dashv		
	3	Accounts receivable ►							
	١.	Less: allowance for doubtful accounts					+		
	4	Pledges receivable -		\dashv					
	_ ا	Less: allowance for doubtful accounts							
	1 -	Grants receivable	h	ŀ			+		
	6	Receivables due from officers, directors, trustees, and ot	ner						
	,	disqualified persons Other notes and loans receivable		ŀ			+		
	′	Less: allowance for doubtful accounts							
m	ο .	Inventories for sale or use					+		
Assets	1	Prepaid expenses and deferred charges		Ì			_		
As	1	Investments - U.S. and state government obligations	тмт С	, 1	48,701.	173,259	+	165	392.
		•		0	491,618.	1,722,844		1,845,	
	1	-	TMT 1		131,518.	1,661,194		1,658,	
	1	Investments - land, buildings, and equipment basis		-	131,310.	1,001,134	+		<u> </u>
	` `	Less accumulated depreciation							
	12	Investments - mortgage loans					十		
	13	Investments - other S	TMT 1	2	0.	19,444		32.	526.
	14	Land, buildings, and equipment: basis ▶		Ì					
		Less accumulated depreciation			590,000.	0			0.
	15	Other assets (describe ►)			\Box		
									
_	16	Total assets (to be completed by all filers)			1,258,794.	4,459,260	1.	4,583,	<u>810.</u>
	17	Accounts payable and accrued expenses							
	18	Grants payable		}			_		
es	19	Deferred revenue		ļ			_		
Ħ	20	Loans from officers, directors, trustees, and other disqualified person	ons			 ··-	4		
Liabilities	1	Mortgages and other notes payable					4		
_	22	Other liabilities (describe >) ⊦			-		
	22	Tatal liabilities (add lines 17 through 20)				0			
_	23	Total liabilities (add lines 17 through 22) Foundations that follow SFAS 117, check here	N	1	0.) -		
		and complete lines 24 through 26 and lines 30 and 31.		_					
es	24	Unrestricted							
auc	25	Temporarily restricted		ŀ			\dashv		
Bal	1	Permanently restricted		ļ			\dashv		
Net Assets or Fund Balances		Foundations that do not follow SFAS 117, check here	▶ [X				\dashv		
Ē		and complete lines 27 through 31.		_					
S	27	Capital stock, trust principal, or current funds			0.	0			
set	28	Paid-in or capital surplus, or land, bldg., and equipment f	fund	Ī	0.	0			
As	29	Retained earnings, accumulated income, endowment, or	other funds	3	1,258,794.	4,459,260	7.		
Š	30	Total net assets or fund balances			1,258,794.	4,459,260			
						-			
_	31	Total liabilities and net assets/fund balances			1,258,794.	4,459,260	<u>. </u>		
P	art	Analysis of Changes in Net Assets	or Fun	d Ba	alances				
_									
1		net assets or fund balances at beginning of year - Part II,		, line :	30				
_		t agree with end-of-year figure reported on prior year's re	turn)			<u>-</u>	1	<u>1,258,</u>	
		amount from Part I, line 27a	n :	· · T ^-		•	2	<u>3,407,</u>	
		increases not included in line 2 (itemize) PRIO	K PER	(TO	D ADJUSTMENT		3		000.
		ines 1, 2, and 3 eases not included in line 2 (itemize)			ann ann	<u> </u>	4	4,725,	
		net assets or fund balances at end of year (line 4 minus li	ne 5) - Dord	11.00			5 6	4,459,	732.
<u>~</u> _	اعيرا	not assets or rand balances at end of year (line 4 illiflus il	ne oj - rali	. 11, 60	nurmi (D), mile 30		<u> </u>	Form 990-P	
									- (2011)

-	$\overline{}$	**	•	╸		•	ΕĊ	
H'	11		N	1 1/	Δ.	3,		ın

Part IV Capital Gains a	nd Los	ses for Tax on In	vestment	Income				<u>, , , , , , , , , , , , , , , , , , , </u>	0 2 3 .	<u>y Z Z O </u>
(a) List and describe the kind(s) of property sold (e.g., real estate, 2-story brick warehouse; or common stock, 200 shs. MLC Co.)			(b)			Date acqu (mo , day, y		(d) Date sold (mo., day, yr.)		
1a		·	_							
b SEE ATTACHED	STAT	EMENT				-				
<u>c</u> d	-									
e								·· -		
(e) Gross sales price		preciation allowed (or allowable)		t or other basis xpense of sale				(h) Gain ((e) plus (f)		
<u>a</u>										
b										
C			•							-
e 4,670,464.				4,928,98	6.					-258,522.
Complete only for assets showing	gain in co	olumn (h) and owned by t			•		(1) (Gains (Col. ((h) gain	minus
(i) F.M.V. as of 12/31/69		Adjusted basis		cess of col. (I)			còl. (k), but not l Losses (fro	ess than	ı -0-) or a))
(1) F.W.V. 45 OF 12/3 1/03		as of 12/31/69	over	col. (j), if any						· <i>'</i> //
<u>a</u>										
b c										
d										
е										-258,522.
Capital gain net income or (net cap	ıtal loss)	If gain, also enter			}	2				-258,522.
3 Net short-term capital gain or (loss										
If gain, also enter in Part I, line 8, c	•	• •	- (-/-		}	l				
If (loss), enter -0- in Part I, line 8 Part V Qualification Un	da - Ca	ection 4940(e) for	Doduced	Tay on Not		3	cont Inco		N/A	
Was the foundation liable for the section of the se	y under se	ection 4940(e). Do not co n for each year; see instru	mplete this pa	rt.	es.					Yes X No
(a) Base period years Calendar year (or tax year beginning	g in)	(b) Adjusted qualifying dist	tributions	Net value of no	(c) oncha		use assets	(col		(d) ution ratio ided by col. (c))
2010		5	5,623.			<u>58</u>	<u>6,892</u> .			.094776
2009			0.				0.			.000000
2008 2007										
2006										
9. Taket of line 1 column (d)								2		.094776
2 Total of line 1, column (d)3 Average distribution ratio for the 5-	year base	period - divide the total c	on line 2 by 5,	or by the number	of ye	ars				.054770
the foundation has been in existent	ce if less t	han 5 years						3		.047388
4 Enter the net value of noncharitable	e-use asse	ets for 2011 from Part X, I	line 5					4		3,869,928.
5 Multiply line 4 by line 3								5		183,388.
6 Enter 1% of net investment income	e (1% of P	art I, line 27b)						6		98.
7 Add lines 5 and 6								7		183,486.
8 Enter qualifying distributions from			لاحم الله	Jaka khat a c		0/ ±		8		93,832.
If line 8 is equal to or greater than See the Part VI instructions.	iine 7, che	CK THE DOX IN PART VI, IINE	ib, and comp	nete that part usir	ıga 1	% tax	rate.	_	 -	orm 990-PF (2011)

THE JOSHUA (JIM) AND EUNICE STONE Form 990-PF (2011) FOUNDATION 27-0439220 Page 4 Part VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 - see instructions) 1a Exempt operating foundations described in section 4940(d)(2), check here and enter "N/A" on line 1. Date of ruling or determination letter: (attach copy of letter if necessary-see instructions) b Domestic foundations that meet the section 4940(e) requirements in Part V, check here and enter 1% 197. of Part I, line 27b c All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b). 2 Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-) Add lines 1 and 2 3 Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-) Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-5 Credits/Payments: a 2011 estimated tax payments and 2010 overpayment credited to 2011 b Exempt foreign organizations - tax withheld at source 6b 391 c Tax paid with application for extension of time to file (Form 8868) 6с d Backup withholding erroneously withheld 6d 391. 7 Total credits and payments. Add lines 6a through 6d 8 Enter any penalty for underpayment of estimated tax. Check here _____ if Form 2220 is attached 8 9 Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed 194. 10 Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid 10 194 11 Enter the amount of line 10 to be: Credited to 2012 estimated tax Part VII-A | Statements Regarding Activities No Yes 1a During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene in any political campaign? 1a b Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for definition)? 1b X If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published or distributed by the foundation in connection with the activities X c Did the foundation file Form 1120-POL for this year? 1c d Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year: (1) On the foundation. > \$ (2) On foundation managers. ► \$ e Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation X 2 Has the foundation engaged in any activities that have not previously been reported to the IRS? 2 If "Yes," attach a detailed description of the activities. 3 Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes 3 4a Did the foundation have unrelated business gross income of \$1,000 or more during the year? X 4a N/A b if "Yes," has it filed a tax return on Form 990-T for this year? 4b 5 Was there a liquidation, termination, dissolution, or substantial contraction during the year? 5

> 10 X Form **990-PF** (2011)

8b

X X

MI

If "Yes," attach the statement required by General instruction T

7 Did the foundation have at least \$5,000 in assets at any time during the year?

· By language in the governing instrument, or

If "Yes," complete Part II, col. (c), and Part XV.

remain in the governing instrument?

6 Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:

8a Enter the states to which the foundation reports or with which it is registered (see instructions)

of each state as required by General Instruction G? If "No," attach explanation

By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law

b If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)

year 2011 or the taxable year beginning in 2011 (see instructions for Part XIV)? If "Yes," complete Part XIV

10 Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses

9 Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar

Total number of other employees paid over \$50,000

Total. Add lines 1 through 3

All other program-related investments. See instructions.

Page 8

P	art X Minimum Investment Return (All domestic foundations must complete this part. Foreign four	idations,	see instructions.)
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes:		
·	Average monthly fair market value of securities	1a	3,594,889.
b	Average of monthly cash balances	1b	333,972.
C	Fair market value of all other assets	1c	
d	Total (add lines 1a, b, and c)	1d	3,928,861.
e	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation) 1e 0.		
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d	3	3,928,861.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	58,933.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	3,869,928.
6	Minimum investment return Enter 5% of line 5	6	193,496.
P	art XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and foreign organizations check here and do not complete this part.)	d certain	
1	Minimum investment return from Part X, line 6	1	193,496.
2a	Tax on investment income for 2011 from Part VI, line 5		
b	Income tax for 2011. (This does not include the tax from Part VI.)	1	
C	Add lines 2a and 2b	2c	197.
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	193,299.
4	Recoveries of amounts treated as qualifying distributions	4	0.
5	Add lines 3 and 4	5	193,299.
6	Deduction from distributable amount (see instructions)	6	0.
7_	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1	7	193,299.
P	art XII Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
a	Expenses, contributions, gifts, etc total from Part I, column (d), line 26	1a	93,832.
b	Program-related investments - total from Part IX-B	1b	0.
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
a	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	93,832.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		
	income. Enter 1% of Part I, line 27b	5	0.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	93,832.
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation of	ualifies fo	r the section

Form **990-PF** (2011)

4940(e) reduction of tax in those years.

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2010	(c) 2010	(d) 2011
1 Distributable amount for 2011 from Part XI,			· · · · · · · · · · · · · · · · · · ·	
line 7				193,299.
2 Undistributed income, if any, as of the end of 2011				
a Enter amount for 2010 only			0.	
b Total for prior years:		_		
 ''		0.		
3 Excess distributions carryover, if any, to 2011:				
a From 2006				
b From 2007				
c From 2008				
d From 2009 e From 2010 26,278.	ł			
· · · · · · · · · · · · · · · · · · ·	26 270			
f Total of lines 3a through e	26,278.			
4 Qualifying distributions for 2011 from Part XII, line 4: ▶ \$ 93,832.				
a Applied to 2010, but not more than line 2a			0.	
F-				
b Applied to undistributed income of prior years (Election required - see instructions)		0.		
c Treated as distributions out of corpus				
(Election required - see instructions)	0.			
d Applied to 2011 distributable amount				93,832.
e Remaining amount distributed out of corpus	0.			33,034.
5 Excess distributions carryover applied to 2011	26,278.			26,278.
(If an amount appears in column (d), the same amount must be shown in column (a))	20,270.			20,278.
6 Enter the net total of each column as indicated below:				
& Corpus Add lines 3f, 4c, and 4e Subtract line 5	0.			
b Prior years' undistributed income. Subtract				
line 4b from line 2b		0.		
c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b. Taxable				
amount - see instructions		0.		
e Undistributed income for 2010. Subtract line				
4a from line 2a. Taxable amount - see instr.			0.	
f Undistributed income for 2011. Subtract				
lines 4d and 5 from line 1. This amount must				
be distributed in 2012				73,189.
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by				
section 170(b)(1)(F) or 4942(g)(3)	0.			
8 Excess distributions carryover from 2006				
not applied on line 5 or line 7	0.			·
9 Excess distributions carryover to 2012.				
Subtract lines 7 and 8 from line 6a	0.			
O Analysis of line 9:				
a Excess from 2007				
b Excess from 2008				
c Excess from 2009	ļ			
d Excess from 2010				
e Excess from 2011				

b The form in which applications should be submitted and information and materials they should include:

c Any submission deadlines:

d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors:

Form **990-PF** (2011)

Form 990-PF (2011) FOUNDATION
Part XV | Supplementary Information (continued)

Part XV	Supplementary Information	n (continued)			
3 Grants	and Contributions Paid During the		Payment		
	Recipient	If recipient is an individual, show any relationship to	Foundation	Purpose of grant or contribution	Amount
Nam	e and address (home or business)	any foundation manager or substantial contributor	status of recipient	contribution	Amount
a Paid du	iring the year				<u> </u>
GLEANERS F		N/A	PUBLIC CHARITY	TO FEED THE LESS	
	OLUMBIA AVENUE MI 48340			FORTUNATE	22 222
ONTIAC ,	MI 40340		<u> </u>		20,000
LL FAITH	FOOD BANK	N/A	PUBLIC CHARITY	TO FEED THE LESS	
3171 BLAIK	IE CT.			FORTUNATE	
SARASOTA,	FL 34240				20,000
	ICAGO FOOD BANK ANN LURIE PLACE	N/A	PUBLIC CHARITY	TO FEED THE LESS FORTUNATE	
CHICAGO .				FORTONALE	10,000
					•
CARE FOR R	EAL	N/A	PUBLIC CHARITY	TO FEED THE LESS	
	ERIDAN RD.			FORTUNATE	
CHICAGO, I	L 60640				10,000
				!	
Total			<u> </u>	▶ 3a	60,000
	ed for future payment				00,000
N	IONE				
	· · · · · · · · · · · · · · · · · · ·			10.11.11	
		•			
				<u> </u>	
Total				▶ 3b	0

FOUNDATION

27-0439220 Page 12

Part XVI-A Analysis of Income-Producing Activities

nter gross amounts unless otherwise indicated.				by section 512, 513, or 514	(e)
	(a) Business	(b) Amount	(c) Exclu- sion	(d) Amount	Related or exempt function income
1 Program service revenue:	code	741100111	code	Alliount	Tunction income
a	 				
b	_	- .			
<u> </u>					· · · · · · · · · · · · · · · · · · ·
d	1				
e					
Food and contracts from government accesses	-				
g Fees and contracts from government agencies	 			-	
Membership dues and assessments	-		+		
Interest on savings and temporary cash					
Investments	 		14	70 204	
Dividends and interest from securities	 		14	70,294.	
Net rental income or (loss) from real estate:	 				
a Debt-financed property	 	 			
b Not debt-financed property					
Net rental income or (loss) from personal					
property			1.4	2 (02	
Other investment income			14	3,693.	
Gain or (loss) from sales of assets other			10	250 522	
than inventory	 		18	-258,522.	
Net income or (loss) from special events	 				
Gross profit or (loss) from sales of inventory					
Other revenue:	1				
a	1				
b					
	 		 		
d					
e Subtotal. Add columns (b), (d), and (e)			, - -	-184,535.	(
B Total. Add line 12, columns (b), (d), and (e)		· · · · · · · · · · · · · · · · · · ·	<i>y</i> •		-184,535
see worksheet in line 13 instructions to verify calculations.)				13	-104,333
to workshoot in line to man delicing to verify calculations.)					

Line No. ▼	Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to the accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes).								

123821 12-02-11

Form **990-PF** (2011)

, , ,		JOSHUA (J DATION	IM) ANI	BUNICE STON		439220	***	40
Part			nsfers To	and Transactions a	nd Relationships With Non			17) 13
	Exempt Organ	nizations						
					n den arheid in sestian 501(c) of		Yes	No
	i flado f o tici i ran certori 50 11				National	Į.	1	
	esotors from the reporting foun	totion to a rist the re	Shiptaca blui	33. jeren ar		l	İ	1
	(취업) - (기계					1a(1)	ļ	X
	Other carts					1a(2)	 	Х
	in transporturation and a secondaria.	tito ovo-mit in anali					ĺ	x
). Suits of arrest to a nonchibe.). Purchases of cottests from a su					16(1)	├	X
). Remtal of facilities, equipment		10177 314711			1b(2) 1b(3)	 	X
	Rombulgement aurangement	•				1b(4)		X
	Leans or lean quantities	•				16(5)		X
	Performance of craviors or m	emberskip e r fundr	austora col salatu)r-5		15(8)		X
	army of facilities, equipment, m		-			10		X
d 110	frounsiaer to any of the above s	TYPU BOTT UP PO	o fellowing con	rdi fr. Cotu no (b) should ala	ayr (C ou the fair northet value of the qa	ලේද, ප්රාණ දෙදර	0'5,	
					e an havy tha en alla gin da site apapatrio agoni			
	ವಾದ (d) ಟಿಟ್ ೯೯೨೦ ರ ದೇಗ ಭಾರತ್ನು							
(2)) mon	e (b)Amananaya Yen	(c) (lin '3)) exemple a generations	(d) Poster actourtan bornst i	ಚಾರ್ಥವಾಗ <u>ರಾ</u>	م ووات	y *
			N/A					
					- 			
		ļ						
	- 							
		 			 			
		 		·				
		 	·····			Whate-and 1		
		1						
		1						
								
				·		,		
		ļ		* 				
20 101	to tax material and a	day viid saad uuda aa	red start to a co		1			
	its tourisation directly or indica acrition 501(a) of the Code rathe				Clares Charings	Yes	1 🕶	1
	Yes." complete the telesiving oc		cycopyor mare	non or r		() 113	1.65	,11
	1v (0 8.11m) (E)			(b) Type of ergunization	(a) Westign an of rek	tioship		
	N/A			1	··			
								, CA 1404.34
	Y			1				
c:	maticula a state coust and co	nara,o gastas,ku (at Mutterio (et Juag	n 500 "an, in late ngkatara (""`ai (hi	an priconductored outsing says.	rill treating and to the best of my Arelacity to Street which property for any knowledge	संस्थायम् । टाउ संस्थायम् । टाउ	ارادی	in.
Sign Hero	1/1		A	A mill		CKAN DOTOR	(COO H ~	† ;7
. 1010	Signature of cities or busic	1.h		IN ADJY SO ZEIZ	TRUSTEE	. X Yes	-	. No
	Frmblype purparer's n		Propuer 6/		<u>, </u>	(41)		
					าว ตามระเยน	-		

11-14-12

P00240647

Form's EIN ► 38-1357951

Paid

Preparer

Use Only

KAREN CADY

Fom's name > PLANTE & MORAN, PLLC

SOUTHFIELD, MI 48037-0307

Fundaddic. ▶ P.O. BOX 307

Schedule B (Form 990, 990-EZ, or 990-PE)

Department of the Treasury Internal Revenue Service

Name of the organization

Schedule of Contributors

► Attach to Form 990, Form 990-EZ, or Form 990-PF.

THE JOSHUA (JIM) AND EUNICE STONE

OMB No 1545-0047

2011

Employer identification number

FOUNDATION 27-0439220 Organization type (check one): Filers of: Section: Form 990 or 990-F7 501(c)() (enter number) organization 4947(a)(1) nonexempt charitable trust not treated as a private foundation 527 political organization X 501(c)(3) exempt private foundation Form 990-PF 4947(a)(1) nonexempt charitable trust treated as a private foundation 501(c)(3) taxable private foundation Check if your organization is covered by the General Rule or a Special Rule. Note. Only a section 501(c)(7), (8), or (10) organization can check boxes for both the General Rule and a Special Rule See instructions. **General Rule** For an organization filing Form 990, 990-EZ, or 990-PF that received, during the year, \$5,000 or more (in money or property) from any one contributor. Complete Parts I and II **Special Rules** For a section 501(c)(3) organization filing Form 990 or 990-EZ that met the 33 1/3% support test of the regulations under sections 509(a)(1) and 170(b)(1)(A)(vi) and received from any one contributor, during the year, a contribution of the greater of (1) \$5,000 or (2) 2% of the amount on (i) Form 990, Part VIII, line 1h, or (ii) Form 990-EZ, line 1 Complete Parts I and II. 🔟 For a section 501(c)(7), (8), or (10) organization filing Form 990 or 990-EZ that received from any one contributor, during the year, total contributions of more than \$1,000 for use exclusively for religious, chantable, scientific, literary, or educational purposes, or the prevention of cruelty to children or animals Complete Parts I, II, and III. For a section 501(c)(7), (8), or (10) organization filing Form 990 or 990-EZ that received from any one contributor, during the year, contributions for use exclusively for religious, charitable, etc., purposes, but these contributions did not total to more than \$1,000. If this box is checked, enter here the total contributions that were received during the year for an exclusively religious, charitable, etc., purpose Do not complete any of the parts unless the General Rule applies to this organization because it received nonexclusively religious, charitable, etc., contributions of \$5,000 or more during the year. Caution. An organization that is not covered by the General Rule and/or the Special Rules does not file Schedule B (Form 990, 990-EZ, or 990-PF),

but it must answer "No" on Part IV, line 2, of its Form 990; or check the box on line H of its Form 990-EZ or on Part I, line 2 of its Form 990-PF, to

LHA For Paperwork Reduction Act Notice, see the Instructions for Form 990, 990-EZ, or 990-PF. Schedule B (Form 990, 990-EZ, or 990-PF) (2011)

certify that it does not meet the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF).

Name of organization

THE JOSHUA (JIM) AND EUNICE STONE

FOUNDATION

Employer identification number

27-0439220

Part I	Contributors (see instructions). Use duplicate copies of Part I if additional space is needed

(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
1	JOSHUA J. STONE 15-YEAR CHARITABLE LEAD UNITRUST 27235 OVID FRANKLIN, MI 48025	\$2,196,792.	Person X Payroll
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
2	JOSHUA J. STONE 20-YEAR CHARITABLE LEAD UNITRUST 27235 OVID FRANKLIN, MI 48025	\$1,410,865.	Person Payroll Noncash X (Complete Part II if there is a noncash contribution)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
3	JOSHUA J. STONE 20-YEAR CHARITABLE LEAD UNITRUST 27235 OVID FRANKLIN, MI 48025	\$146,881.	Person X Payroll Noncash (Complete Part II if there is a noncash contribution.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution.) 990, 990-EZ, or 990-PF) (2011)

Name of organization

THE JOSHUA (JIM) AND EUNICE STONE

27-0439220

Employer identification number

FOUNDATION Noncash Property (see instructions). Use duplicate copies of Part II if additional space is needed. (a)

No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
2	MARKETABLE SECURITIES		
		\$\$ <u>1,410,865.</u>	02/09/11
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received

(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		 \$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received

123453 01-23-12

Schedule B (Form 990, 990-EZ, or 990-PF) (2011)

	8 (Form 990, 990-EZ, or 990-PF) (2011)		Page 4
Name of org		СШОХТ	Employer identification number
	OSHUA (JIM) AND EUNICE	STONE	27-0439220
FOUND! Part III	Exclusively religious, charitable, etc., indiverse complete columns (a) through (e) and the total of exclusively religious, charitable, etc. Use duplicate copies of Part III if addition	he following line entry. For organizations c., contributions of \$1,000 or less for the), (8), or (10) organizations that total more than \$1,000 for the
(a) No. from	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
Part I			
		(e) Transfer of gift	
	Transferee's name, address, a	nd ZIP + 4	Relationship of transferor to transferee
(a) Na			
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
	Transferee's name, address, a	(e) Transfer of gift	Relationship of transferor to transferee
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
,		(e) Transfer of gift	
	Transferee's name, address, a	nd ZIP + 4	Relationship of transferor to transferee
(a) Na			
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
		(e) Transfer of gift	
	Transferee's name, address, a	nd ZIP + 4	Relationship of transferor to transferee

CONTINUATION	FOR 990)-PF,	PART	IV
27-0439220	PAGE	1	OF	_1

Part IV Capital Gains	8 and Loss	ses for Tax on Investment Income	. <u> </u>			
. (a)	List and o S-story brid	describe the kind(s) of property sol ck warehouse; or common stock, 2	d, e.g., real estate, 00 shs. MLC Co.	(b) How acquired P - Purchase D - Donation	(c) Date acquired (mo., day, yr.)	(d) Date sold (mo., day, yr.)
1a PUBLICLY TI	RADEL	SECURITIES		P		
b PUBLICLY TI	RADEL	SECURITIES		P		
c PUBLICLY TI	RADEL	SECURITIES		P		
d PUBLICLY TI	RADEL	SECURITIES		P		
e BUILDING				P		
f CAPITAL GA	INS D	DIVIDENDS			,	
<u>g</u>						
h	_					
<u>k</u>						
<u></u>	-					
m						
<u>n</u>						
0	· · · · · · · · · · · · · · · · · · ·				<u> </u>	
(e) Gross sales price	e	(f) Depreciation allowed (or allowable)	(g) Cost or other basis plus expense of sale	(h) (e) p	Gain or (loss) lus (f) minus (g)	
a 3,900,	369.		3,976,491.			-76,122.
	091.		18,825.			266.
<u>c</u> 182,		-	158,223.			24,136.
<u>d</u> 209,			163,006.			<u>46,609.</u>
e 350,			612,441.			262,441.
f 9,0	030.					<u>9,030.</u>
<u>g</u>						
h						
1						
1						
<u>k</u>						
1						
<u>m</u>						
<u>n</u>	+					
Complete only for accet	te chowing	gain in column (h) and owned by	the foundation on 19/21/60			
Complete only for asset	is snowing	· · · · · · · · · · · · · · · · · · ·			ses (from col. (h)) of col. (h) gain over	col (k)
(i) F.M.V. as of 12/31/	69	(j) Adjusted basis as of 12/31/69	(k) Excess of col. (i) over col. (j), if any	but n	ot less than "-0-")	
a						<u>-76,122.</u>
b						266.
<u>C</u>		· · · · · · · · · · · · · · · · · · ·				24,136.
<u>d</u>						46,609.
<u>e</u>	-					262,441.
<u>f</u>		-				9,030.
9						
<u>h</u>						
1	-					
<u> </u>						
<u>k</u>						
m						
n	+					
0						
<u> </u>				 ·		
2 Capital gain net income o	or (net cap	ortal loss) { If gain, also enter "-0"	ın Part I, line 7 -" ın Part I, line 7	2		258,522.
If gain, also enter in Part	1, line 8, c	s) as defined in sections 1222(5) an olumn (c).	d (6):			
If (loss), enter "-0-" in Pai	rt I, line 8		J	3	N/A	·

FORM 990-PF DIVIDENT	DS AND	INTER	EST FROM	SECU	JRITIES	STATEMENT	1
SOURCE		GROSS	AMOUNT		PITAL GAINS DIVIDENDS	COLUMN (A)
CHARLES SCHWAB & COMPANY	_		42,831.		9,030.	33,8	
COMERICA BANK R.H. BLUESTEIN & COMPANY			325. 36,168.		0. 0.	3 36,1	25. 68.
TOTAL TO FM 990-PF, PART I, 1	LN 4 =		79,324.	_	9,030.	70,2	94.
FORM 990-PF	ro	HER II	NCOME			STATEMENT	2
DESCRIPTION		1	(A) REVENUE PER BOOK:		(B) NET INVEST- MENT INCOME	(C) ADJUSTE NET INCO	
MISCELLANEOUS INCOME - COMERICA			3,	693.	3,693.		
MISCELLANEOUS INCOME - COMER.							
TOTAL TO FORM 990-PF, PART I		11	3,	693.	3,693.	•	
		11		693.	3,693.	STATEMENT	3
TOTAL TO FORM 990-PF, PART I		LEGAL A) ISES		EST-	3,693. (C) ADJUSTED NET INCOME	STATEMENT (D) CHARITA	
TOTAL TO FORM 990-PF, PART I FORM 990-PF	, LINE (A EXPEN PER E	LEGAL A) ISES	FEES (B) NET INV	EST-	(C) ADJUSTED NET INCOME	STATEMENT (D) CHARITA	BLE ES
TOTAL TO FORM 990-PF, PART I FORM 990-PF DESCRIPTION	, LINE (A EXPEN PER E	LEGAL 1) ISES BOOKS	FEES (B) NET INV MENT INC	EST- COME	(C) ADJUSTED NET INCOME	STATEMENT (D) CHARITA E PURPOS	BLE ES
TOTAL TO FORM 990-PF, PART I FORM 990-PF DESCRIPTION LEGAL FEES	, LINE (A EXPEN PER E	LEGAL ISES BOOKS 1,273.	FEES (B) NET INV MENT INC	EST-COME,	(C) ADJUSTED NET INCOME	STATEMENT (D) CHARITA PURPOS 2,1	BLE ES
TOTAL TO FORM 990-PF, PART I FORM 990-PF DESCRIPTION LEGAL FEES TO FM 990-PF, PG 1, LN 16A	, LINE (A EXPEN PER E	LEGAL ISES BOOKS 1,273. COUNTIL	FEES (B) NET INV MENT INC 2 2 NG FEES (B)	EST- COME ,136	(C) ADJUSTED NET INCOME	STATEMENT (D) CHARITA PURPOS 2,1 2,1 STATEMENT (D) CHARITA	BLE ES 37. 37.
TOTAL TO FORM 990-PF, PART I FORM 990-PF DESCRIPTION LEGAL FEES TO FM 990-PF, PG 1, LN 16A FORM 990-PF	, LINE (A EXPEN PER E ACC (A EXPEN PER E	LEGAL ISES BOOKS 1,273. COUNTIL	FEES (B) NET INV MENT INC 2 2 NG FEES (B) NET INV MENT INC	EST- COME ,136	(C) ADJUSTED NET INCOME	STATEMENT (D) CHARITA PURPOS 2,1 2,1 STATEMENT (D) CHARITA	BLE ES 37. 37.

FORM 990-PF (OTHER PROFES	SIONAL FEES		STATEMENT	5
DESCRIPTION		(B) NET INVEST- MENT INCOME			
INVESTMENT MANAGEMENT FEES	9,776.	9,776.		:	0.
TO FORM 990-PF, PG 1, LN 16C	9,776.	9,776.			0.
FORM 990-PF	TAX	ES	\$	STATEMENT	6
DESCRIPTION		(B) NET INVEST- MENT INCOME			
FOREIGN TAX	1,217.	1,217.			0.
TO FORM 990-PF, PG 1, LN 18 =	1,217.	1,217.		=	0.
FORM 990-PF	OTHER E	XPENSES	2	STATEMENT	7
	(A) EXPENSES	(B) NET INVEST-	(C) ADJUSTED	(D) CHARITABI	LE
DESCRIPTION	PER BOOKS		NET INCOME	PURPOSES	S
	PER BOOKS 4,521.	MENT INCOME 0.	NET INCOME	PURPOSES	0.
UTILITIES MISCELLANEOUS EXPENSE DUES	PER BOOKS 4,521. 308. 660.	0. 0. 0.	NET INCOME	PURPOSES (666	0. 0. 0.
UTILITIES MISCELLANEOUS EXPENSE DUES STATE FILING FEE	4,521. 308. 660. 20.	0. 0. 0. 0.	NET INCOME	PURPOSES (660 20	0.
UTILITIES MISCELLANEOUS EXPENSE DUES	PER BOOKS 4,521. 308. 660.	0. 0. 0.	NET INCOME	PURPOSES (666	0.
UTILITIES MISCELLANEOUS EXPENSE DUES STATE FILING FEE	4,521. 308. 660. 20.	0. 0. 0. 0. 0.		PURPOSES (660 20	0.
UTILITIES MISCELLANEOUS EXPENSE DUES STATE FILING FEE TO FORM 990-PF, PG 1, LN 23	4,521. 308. 660. 20.	0. 0. 0. 0. 0.		PURPOSES 660 20	0.
UTILITIES MISCELLANEOUS EXPENSE DUES STATE FILING FEE TO FORM 990-PF, PG 1, LN 23 FORM 990-PF OTHER DECREASE	PER BOOKS 4,521. 308. 660. 20. 5,509.	MENT INCOME 0. 0. 0. 0. 0. SETS OR FUND B		PURPOSES 660 20 680 STATEMENT	0.0.0.0.

FORM 990-PF U.S. AND STAT	TE/CITY GOVERNMEN	T OBLIGATIONS	STATEMENT 9
DESCRIPTION	U.S. OTHER GOV'T GOV'T		FAIR MARKET VALUE
GOVERNMENT BONDS - SEE ATTACHED	X	173,259.	165,392.
TOTAL U.S. GOVERNMENT OBLIGATION	NS	173,259.	165,392.
TOTAL STATE AND MUNICIPAL GOVERN	NMENT OBLIGATIONS		
TOTAL TO FORM 990-PF, PART II, I	LINE 10A	173,259.	165,392.
FORM 990-PF	CORPORATE STOCK		STATEMENT 10
DESCRIPTION		BOOK VALUE	FAIR MARKET VALUE
COMMON STOCK - SEE ATTACHED		1,722,844.	1,845,078.
TOTAL TO FORM 990-PF, PART II, I	LINE 10B	1,722,844.	1,845,078.
FORM 990-PF	CORPORATE BONDS		STATEMENT 11
DESCRIPTION		BOOK VALUE	FAIR MARKET VALUE
CORPORATE BONDS - SEE ATTACHED		1,661,194.	1,658,295.
TOTAL TO FORM 990-PF, PART II, I	LINE 10C	1,661,194.	1,658,295.
FORM 990-PF C	OTHER INVESTMENTS		STATEMENT 12
	VALUATION METHOD	BOOK VALUE	FAIR MARKET VALUE
DESCRIPTION			
DESCRIPTIONGOLD - SEE ATTACHED	COST	19,444.	32,526.

December 31, 2011

Quantity	Security	Unit Total Cost Price		Price	Market Value	Pct. Assets	Yield
COMMON STO	ОСК						
CONSUMER	DISCRETIONARY						
300	DIRECTV CI A	47.03	14,108	42.76	12,828	0.5	00
1,500	Ford Motor Company	12.81	19,217	10.76	16,140	0.6	19
1,000	Home Depot Inc	42.08	42,075	42.04	42,040	1.5	2.8
300	McDonalds Corp	99.93	29,978	100.33	30,099	1.1	2.8
1,000	Walt Disney Co	35.75	35,748	37.50	37,500	1.4	16
			141,125	_	138,607	5.0	2.1
CONSUMER	STAPLES						
600	Church & Dwight Co	45.23	27,140	45.76	27,456	1.0	1.5
350	Coca Cola Co	69.91	24,467	69.97	24,490	0.9	2.7
500	Costco Wholesale	85.38	42,689	83.32	41,660	1.5	1.2
350	Diageo PLC ADR	85.39	29,886	87.42	30,597	1.1	3.0
300	Estee Lauder Cl A	111.83	33,548	112.32	33,696	1.2	09
100	Nestle SA ADR	58.45	5,845	57.71	5,771	0.2	3 1
			163,574	_	163,670	5.9	1.8
ENERGY							
400	Devon Energy Corp	63.04	25,217	62.00	24,800	0.9	1.1
700	Exxon Mobil Corp	84.93	59,448	84.76	59,332	2.2	2.2
150	FMC Technologies	52.31	7,847	52.23	7,835	03	0.0
1,000	Kinder Morgan Inc	30.68	30,680	32.17	32,170	1.2	3.7
600	National Oilwell Varco	70.87	42,523	67.99	40,794	1.5	0.7
400	Occidental Petroleum	95.10	38,041	93.70	37,480	1.4	2.0
200	Schlumberger Ltd	73.39	14,677	68.31	13,662	0.5	1.5
			218,433		216,073	7.8	1.9
FINANCIALS							
550	American Express Co	47.54	26,148	47.17	25,944	0.9	1.5
1,000	SLM Corp	13.63	13,627	13.40	13,400	0.5	3.0
700	Wells Fargo & Co	27.87	19,509	27.56	19,292	0.7	1.7
			59,284		58,636	2.1	1.9
HEALTHCAR	E						
200	Allergan Inc	87.20	17,439	87.74	17,548	0.6	0.2
900	Bristol-Myers Squibb	33.91	30,518	35.24	31,716	1.2	3.9
400	Eli Lilly & Co	41.06	16,422	41.56	16,624	0.6	4.7
250	Perrigo Co	98.32	24,581	97.30	24,325	0.9	0.3
500	Pfizer Inc	21.32	10,661	21.64	10,820	0.4	4.1
300	Roche Hldgs Ltd ADR	43.02	12,905	42.55	12,765	0.5	2.7
			112,526	_	113,798	4.1	2.6
INDUSTRIAL	S						
	Boeing Co	74.06	40,735	73.35	40,343	1.5	2.4

1

December 31, 2011

Quantity	Security	Unit Cost	Total Cost	Price	Market Value	Pct. Assets	Yield
300	Caterpillar Inc	93.92	28,177	90.60	27,180	1.0	2.0
400	Emerson Electric	51.82	20,729	46.59	18,636	0.7	3.4
400	FedEx Corp	81.04	32,417	83.51	33,404	1.2	0.6
500	General Electric Co	15.99	7,995	17.91	3,955 3,955	0.3	3.8
500	Republic Services Inc	29.08	14,541	27.55	13,775	0.5	3.2
300	Union Pacific Corp	105.33	31,599	105.94	31,782	1.2	2.3
400	United Technologies	79.59	31,836	73.09	29,236	1.1	2.6
.00	Omitte Toolstologies		208,028	, 5.0,	203,311	7.4	2.3
TECHNOLOG	Y						
50	Apple inc	402.46	20,123	405.00	20,250	0.7	0.0
500	Cisco Systems Inc	18.44	9,221	18.08	9,040	0.3	1.3
800	Corning Inc	14.40	11,519	12.98	10,384	0.4	2.3
25	Google Inc Cl A	633.96	15,849	645.90	16,148	06	0.0
100	IBM Corp	189.38	18,938	183.88	18,388	0.7	1.6
1,000	Intel Corp	25.40	25.395	24.25	24,250	0.9	3.5
300	Qualcomm Inc	55.08	16,523	54.70	16,410	0.6	16
300	Visa Inc Cl A	101.65	30.494	101.53	30,459	11	0.9
		-	148,060		145,329	5.3	1.4
MATERIALS							
300	Air Products & Chem	86.76	26,029	85.19	25,557	0.9	2.7
500	Freeport-McMoRan	36.53	18.265	36.79	18,395	0.7	2.7
200	Molycorp Inc	39.20	7,840	23.98	4,796	0.2	0.0
350	Monsanto Co	72.05	25,216	70.07	24,525	0.9	1.7
300	Potash Corp	52.94	15,883	41.28	12,384	0.4	0.7
700	Weyerhaeuser Co	17.23	12,060	18.67	13,069	0.5	3 2
		_	105,294	_	98,726	3.6	2.1
UTILITIES							
800	American Water Works	32.17	25,732	31.86	25,488	09	2.9
300	ITC Hldgs Corp	75.30	22,590	75.88	22,764	0.8	1.9
			48,322	_	48.252	1.8	2.4
	COMMON STOCK Total	-	1.204,647	_	1,186,399	43.0	2.0
CORPORATE E	BONDS						
	HEWLETT PACKARD CO	101.10	50,550	100.66	50,328	1.8	0.6
25.000	5.250% Due 03-01-12 FORD MOTOR CREDIT 7.800% Due 06-01-12	107.75	26,938	102.13	25,533	0.9	2.9
50,000	GENERAL ELECTRIC CAP CORP 5.250% Due 10-19-12	104.27	52.136	103.50	51,749	1.9	0.7

December 31, 2011

Quantity	Security	Unit Total ecurity Cost Cost Price		Market Value	Pct. Assets	Yield	
50,000	IBM CORP 4.750% Due 11-29-12	106.91	53,456	103.41	51,703	1.9	0.7
100,000	HONEYWELL INTL 4.250% Due 03-01-13	105.15	105,150	104.32	104,324	3.8	0.6
50,000	WAL-MART STORES 4.550% Due 05-01-13	107.20	53,600	105 55	52,773	1.9	1.1
25.000	IBM CORP 2.100% Due 05-06-13	102.25	25,563	102.06	25,516	0.9	1.1
25,000	6.500% Due 10-15-13	113.45	28,364	110.28	27,570	1.0	1.2
50,000	PEPSICO INC (Callable) 0.875% Due 10-25-13	99.41	49,703	100.49	50,246	1.8	1.1
25,000	SCHERING-PLOUGH (MRK) 5.300% Due 12-01-13	110 15	27,537	108 70	27,176	1.0	0 8
150,000	XTO ENERGY (XOM) (Callable) 5.750% Due 12-15-13	110.85	166,280	109.54	164,314	6.0	0.8
25,000	CHEVRON CORP 3 950% Due 03-03-14	108.65	27,163	106.94	26,735	1.0	1.4
100,000		108.60	1 38,600	107.15	107,147	3.9	0.7
50,000	UNITED PARCEL SERVICE 3.875% Due 04-01-14	107.42	53,710	106.70	53,349	1.9	1.4
25.000		107.67	26,918	105.61	26,402	1.0	1 0
50,000		112.08	56,038	110.96	55,478	2.0	0.9
50,000	FORD MOTOR CREDIT 12.000% Due 05-15-15 Accrued Interest	127.35	63,675	122.50	61,250 8,520	2.2 0.3	4.7
			975,377		970,110	35.2	1.2
GOV'T BONDS		100.00	104.261	01.12	00.221	2.6	
104,551	CANADIAN GOVT (100,000 CAD face with 1.50% Coupon) 1.082% Due 03-01-12	100.00	104,351	94 13	98,231	3.6	1.1
49,993	CANADIAN GOVT (50,000 CAD Face with 1.50% Coupon) 0.914% Due 12-01-12	100.00	49,993	98.62	49,302	1.8	0.9

December 31, 2011

Quantity	Security	Unit Cost	Total Cost	Price	Market Value	Pct. Assets	Yield
18.915	NORWEGIAN GOVT (100,000 NOK Face with 6.50% Coupon) 1.546% Due 05-15-13	100.00	18.915	94.42	17,859	0.6	1.5
	Accrued Interest				597	0.0	
			173,259		165,989	6.0	1.1
US TREAS BILI	LS						
100,000	U.S. TREAS BILL 0.000% Due 02-02-12	100.00	100.000	100.00	99,999	3.6	0.0
25.000	U.S. TREAS BILL 0.000% Due 04-26-12	100.00	25,000	99.99	24,998	0.9	0.0
			125,000	_	124,997	4.5	0.0
CASH/MONEY	MKT						
	Federated Govt Obligation	s Fund	131,030		131,030	4.8	0.0
	Ford Interest Advantage		178,243	_	178.243	6 5	1.3
			309,273		309,273	11.2	0.7
TOTAL PORTF	OLIO		2,787,555		2,756,768	100.0	1.4

Plante Moran Financial Advisors PORTFOLIO APPRAISAL

The Joshua (Jim) and Eunice Stone Foundation Charles Schwab

Quantity	Security	Original Investment	Total Cost	Price	Market Value	Pct. Assets	Annual Income	Cur. Yield
Cash & Equi	v.							
	Schwab US Treasury Money Fund	30,703	30,703		30,703	22	3	0.0
		30,703	30,703		30,703	2 2	3	0 0
Broad Fixed								
10,192 6030	JPMorgan Strategic Income Opps Sel	115,570	120,168	11 33	115,482	8 2	3,221	28
30,527.6650	PIMCO Total Return Inst	310,253	321,325	10 87	331,836	23 5	11,013	3 3
10,331.2160	PIMCO Unconstrained Bond Insti	110,522	113,143	10 89	112,507	8 0	2,133	19
		536,345	554,636		559,825	39 7	16,366	2 9
U.S. Large								
1,876 7910	Mainstay ICAP Select Equity I	46,353	47,556	33 96	63,736	45	1,218	19
4,592 0000	Touchstone Sands Capital Inst! Growth	36,933	36,933	14 36	65,941	47	0	0 0
2,060 6210	Vanguard Index 500 Signal	139,729	143,745	95 65	197,098	14 0	4,070	2.1
		223,015	228,235		326,775	23 2	5,288	16
U.S. Medium								
1,369.6320	T Rowe Price Mid-Cap Growth	46,366	52,474	52 73	72,221	5 1	0	0 0
		46,366	52,474	•	72,221	5 1	0	0 0
U.S. Small								
743 1330	CRM Small Cap Value Insti	9,666	11,747	17 85	13,265	09	0	0 0
322.9170	Stratton Small Cap Value	10,432	10,432	49 79	16,078	1 1	0	0 0
		20,098	22,179		29,343	2 1	0	0.0
International	Developed							
2,015 9120	Columbia International Value Z	23,583	24,494	12 09	24,372	17	1,066	4 4
474 5800	Harbor International Insti	19,471	20,080	52 45	24,892	18	624	2.5
989 1830	Thomburg International Value I	20,451	20,662	24 58	24,314	1.7	380	16
		63,506	65,236		73,578	5 2	2,070	28
International	Emerging							
969.2820	Harding Loevner Emerging Markets CI I	15,360	15,513	14 19	13,754	10	155	1 1
		15,360	15,513	-	13,754	1.0	155	1 1

Plante Moran Financial Advisors

Plante Moran Financial Advisors PORTFOLIO APPRAISAL The Joshua (Jim) and Eunice Stone Foundation Charles Schwab

Quantity	Security	Original Investment	Total Cost	Price	Market Value	Pct. Assets	Annual Income	Cur. Yield
Hedged Stra	tegies							
4,220 0830	Wasatch Long/Short	52,273	52,288	12 85	54,228	38	14	0 0
		52,273	52,288	•	54,228	3 8	14	0 0
Hybrid								
2,187 7030	BlackRock Global Allocation I	35,736	37,006	18 24	39,904	28	875	22
9,795 0930	JPMorgan High Yield Select	70,000	72,855	7 62	74,639	53	5,671	76
4,294 5000	Templeton Global Bond Adv	55,000	58,326	12 37	53,123	38	2,495	47
		160,736	168,187	•	167,665	11 9	9,041	5 4
Commodities	s							
214 0000	SPDR Gold Shares	19,444	19,444	151 99	32,526	23	0	0.0
5,975 1690	Credit Suisse Commodity Return Strategy	45,193	45,266	8 18	48,877	3 5	0	0.0
		64,637	64,710	-	81,403	5 8	0	0.0
TOTAL PORTFOLIO		1,213,039	1,254,161		1,409,495	100.0	32,939	2.3